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POLITICAL SCIENCE
Paper II

Time Allowéd : 2 Hours] [Maximum Marks : 200

Note :— This question paper contains one hundred (100) multiple choice questlons
Each question carries two (2) marks. Attempt all questions.

1. Who among the following is NOT associated with liberty ?

(A) J.S. Mill (B) Isaiah Berlin
(C) F.W. Hayek (D) R.H. Tawney
2. Wlﬁch one of the following is NOT related to Equality ?
(A) Affirmative Action ‘(B) Reservation
(C) Alienation (D) Representation
3. Which of the following is NOT related with the Nozic’s notion of Justice ?
(A) Entitlement | (B) Refinement
(C) Historical Reasoning (D) Empirical Logic "
4. Match the following and choose the correct answef from the codes given
below :
Thinkers : Books
@ J.8. Mill . (1) On Liberty
(@) - R.H. Tawney (2) Equality
(iii) John Rawls 3) Pﬁlitical Liberalism
(v) Ronald Dworkin (4) Taking Rights Seriously
Codes :

Aa) @ - Q), @) - (2), (@) - 3), (v) - (4)

B @ - (@), @) - Q), @) - @), () -4

€) @) - (4), Gi) - 3), @) - (2), Gv) - (1)

M) @) - (@), G) - (D), @) - (4), Gv) - @)
T.B.C. : 15/18/SET—II 2
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5. ‘Democracy is a government of the people, for the people and by the people’

was stated for the first time by whom ?
(A) Cleon (B) Socrates
(C) Abraham Lincoln (D) Martin Luther King

6. The idea of ‘Governmentality’ is given by :

(A) C.B. Macpherson (B) Max Weber
(C) Pareto. (D) Foucalt
7. Find the incorrect pair :

(A) Marxist Citizenship — Anthony Giddens
(B) Liberal Citizenship — T.H. Marshall
(C) Active Citizenship — Joseph Raz

(D) Multicultural Citizenship — Will Kymlicka

8. Which one of the following is not a form of alienation outlined in Marxism ?
(A) Alienation from Self (B) Alienation from Society
(C) Alienation from State (D) Alienation from Nature

9.  Who coined the word Feminism’ for the first time ?
(A) Charles Fourier (B) Marry Wolstonecraft
(C) Hannah Arendt _ (D) Virginia Woolf

10.  Post-modernism is :
(A) An idea (B) A phenomenon

(C) A movement (D) A perspective
T.B.C. : 15/18/SET—II 4



10.

e A A % o, O g e & Wb e W @ 2

(A) AN (B) gHW
(C) romEn feidh (D) W ger e

‘gl o feER %9 ¥ ¢

(A) ¥ . HFwEd (B) HH 9
(€ & D) T
auinagm@ffaﬁ:

(A) TEHaR TR@ — Ul fie

B) wWREE TREA - A T A

© o whET - T

(D) wgupias Awa —  foret TR
fr A 3 AeR § e H YHER T ¢ 7

&) w6 ¥ - B) T A s
) T Y FEE D) Wk A e
‘e’ I wavem R v fear ? |
(A) T R (B) W JERITHIR
(C) & ame - (D) =it 7
IR-NYfwar ¥

A) T fo=R (B) T uRwe
(C) T ARIeH D) T waed

T.B.C. : 15/18/SET—II 5

PT.0.



11.  Who said ‘the State is writ large of individual’ ?
(A) Socrates (B) Plato
(C) Aristotle (D) Glaucon

12. Which one of the following is the worst form of government according to

Aristotle ?
(A) Monarchy (B) Aristocracy
(C) Polity (D) Democracy

13. Which onen of the following is NOT related with The Prince ?
(A) Acquisition of Power | (B) Consolidation of Power
(C) Expansion of Power (D) Separation of Power

14. Match the following and choose the correct answer from the codes given

below :

Thinkers Ideas
(i) John Locke (1) Popular Sovereignty
(1) Rousseau - (2) Natural Rights
(i11) Hegel . (3) Substantive Justice
(v) John Rawls (4) Universal Altruism
Codes :

A) @) - (2), @) - (1), (@) - (3), () - 4)
B) @ - (), @) - (1), @) - (4), (v) - @)
C) @) - ), @) - 3), @) - (2), Gv) - (1)
D @) - Q), @) - (2), Gi) - (4), () - 3)
T.B.C. : 15/18/SET—II 6
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15.  Which one of the following was the basis of Leviathan ?
(A) The Civil War in England (B) The Glorious Revolution
(C) The French Revolution (D) The Spanish Revolution
16.  Which right was given primacy by Locke in his Theory of Natural Rights ?
(A) Right to Life "(B) Right to Liberty
(C)  Right to Property (D) All of these

17.  Arrange the following books of Rousseau in chronological order in terms of

their publication :

(i) Social Contract

(i) Confession

(tif) Discourses on Inequality

(iv) Discourses on Arts and Sciences

Codes :

(A) @), @), (), Go)

(B) (G), (@), (i), @)

(C) @), Gv), (), @)

D) (@), Ga), Gid), (i)
18. Hegelian dialectics is based on :

(A) Idea (B) Individual

(C) Institution (D) All of these
19. The idea of ‘Subaltern’ is associated with which one of the following ?

(A) Hegel (B) Karl Marx

(C) Gramsci . (D) Frantz Fanon
T.B.C. : 15/18/SET—II 8
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20. Which one of the following movements is related with Mao ?
(A) Social Revolution (B) Cultural Revolution
(C) Political Revolution : (D) . Economic Revolution
21. The number of states in Kautilya’s Mandal Theory is :
(A) 5 (B) 10
) 12 (D) 14
22. Aggannasutta is associated with :
(A) Danda Niti (B) Artha Niti
(C) Koot Niti © (D) Boddha Niti

23. The philosophical ideas of Kabir are collected in which one of the

following :
(A) Sakhi (B) Sabad
(C) Ramaini (D) Bijak

24. Who was the founder of Mahila Arya Samaj ?
(A) Jyotiba Phule (B) Savitribai Phule
(C) Swami Daya;land Saraswati (D) Pandita Ramabai
25 ' Vivekénanda authored :
(A) Rajyog (B) Karamyog
(C) Bartman Bharat (D) All of these
26. The smallest book written in shortest time by Gandhi is :
(A) Hind Swaraj (B) My Experiments with Truth
(C) Young India (D) Gita Rahshiya
"TB.C. : 15/18/SET—II 10



20. .

21.

22.

23.

24.

25.

2.

fie f ¥ B SAReH el ¥ Wafkd ¥ ?
(A) IS ®if (B) Wiwpfah il
(C) TeHfew wifd (D) e wifd
Fifee ¥ 7ew fagh § T ® wE&A ¢

@A) 5 (B) 10

C) 12 D) 14
FTTgT Geta T

&) <= Hf ®) @
C) * i (D) g Hifd

R ¥ it feR fre § @ fead wwfaa € 2

(A) e _ (B) W&

© @ (D) o

e o w3 e A A 2

A) wfder T (B) wifepitse Ft

(©) T R ) ifem T
foare g fefem #E - |

(A) TN (B) WM

(C) THH WRd (D) 3 udi

et g o TR 99 @ g w0 g d foet T g ®
W e T (B) W TR foR 3
(C) I e D) T T

T.B.C. : 15/18/SET—II 11 | BT,



27.  Find the incorrect pair :

(A) Balgangadhar Tilak — Founder of Maratha Newspaper

(B) Tagore — Deconstruction of the idea of Nationalism

(C) Sri Aurobindo — Exponent of Spiritual Nationalism

(D) Periyar — Religion as the dividing factor between North and South
28. The idea of Hindutva as outlined by VD Savarkar was based on :

(@) Birth Land (b) Father Land

(c) Mother Land (d) Holy Land

Choose the correct answer :

(A) (a), ) (B) (), ()
(C) (), @) D) (@), (@)
29. Match the following and choose the correct answer from the codes given
below :
Thinkers Ideas
(@) M.N. Roy (1) Chaukhamba Rajniti
() Ram Manohar Lohia (2) New Humanism
(i) Jaya Prakash. Narayan (3) Integral Humanism
(v) Deendayal Upadhyaya (4) Total Revolution
Codes :

(A) @ - (), @) - (1), (@) - 3), (v) - (4)
B) @) - (), @) - (1), (&) - 4), (v) - (3)
(€)@ - ), @) - (2), @) - 3), () - (4)

D) @) - @), @) - (2), @) - @), Gv) - (1)
T.B.C. : 15/18/SET—II 12
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Which one of the following notibns of democracy was not advocated by
Ambedkar ?

(A) Political Demdcracy (B) Social Democracy
(C) Economic Democracy (D) Cultural Democracy
Who advocated ‘Gate Keeping' in comparative politics ?

(A) David Easton (B) Almond Powell

(C) Lucian Pye (D) Sydney Verba

Which one of the following is NOT the common school of New

Institutionalism ?

(A) Rational Choice Institutionalism
(B) Cultural Institutionalism

(C) Structural Institutionalism

(D) Philosophical Institutionalism

In which one of the following nations in Africa‘had a Gandhian based anti-

colonial struggle ?

(A) Ghana - (B) Tanzania

(C) South Africa (D) All of these

Who said that the idea of nationalism is imaginary but-its effect is real ?
(A) Benedict Anderson (B) Ernest Gellner

(C) Anthony D. Smith (D) Paul Brass

The idea of ‘Welfare State’ could broadly be associated with :

(A) Hans Singer (B) Hollis Chenery

(C) John Maynard Keynes (D) John Williamson

T.B.C. : 15/18/SET—II 14
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Match the following rulers and the countries to which they belonged and choose

the correct answer from the codes given below :

Rulers ' Countries
() Idi Amin (1) Uganda
(1) Kenneth Konda (2) Zambia
(iit) Nicolae Ceausescu (3) Romania
(iv) Omar-al-Bashir (4) Sudan

Codes :
(A) @) --4), Gi) - (2), @) - (1), Gv) - (3)
B) @) - (@), Gi) - (1), G@) - (4), Gv) - (3)

© @ -Q), @ - (), @) - @), ) - 4)
D @ - @), @ - 3, G) - (2), @) - (4)

American Constitution is based on :

(A) Separation of Powers (B) Division of Powers
(C) Distribution of Powers (D) Fusion of Powers

Carnation Revolution related with the Third Wave of Democratization took

place in which one of the following nations ?
(A) Spain (B) Portugal
(C) Romania (D) Poland

Who said ‘a country does not have to be deemed to be fit for democracy; rather,

it has to become fit through democracy ?
(A) Francis Fukuyama (B) Amartya Sen

(C) Mahbub-ul-Haq’ (D) Escobar

T.B.C. : 15/18/SET—II 16
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45.

46.

Who amorig the following is the exponent of the I* Model of party formation
in comparative politics ?

(A) Geovanni Sartori (B) Peter Mair

(C) Herbert Kitschell (D) None of these

Who said ‘in the long-run the sword will always be conquered by the
spirit’ ?

(A) Thucydides (B) Napoleon Bonaparte

(C) Gandhi (D) Woodrow Wilson

‘Self-Help’ is associated with which one of the following theories of International
Relations ?

(A) Liberalism (B) Realism

(C) Marxism . (D) Feminism

Who among the following is a structuralist realist ?

(A) Woodrow Wilson (B) dJoseph Nye

(C) John' Mearsheimer (D) Michael Parenti

Who among the folloWing is not a regional integration theorist ?
(A) David Mitrany (B) Karl Deutsch

(C) Ernst Haas (D) Susan Strange

Who said, ‘War is t;he continuation of politics by other means’ ?
(A) Hans Morgenthau | (B) Kenneth Waltz

(C) Karl Von Clausewitz (D) Samuel P. Huntington
‘Pariah State’ refers to diplomatic isolation and condemnation due to :
(A) Behavioural Norms (B) Financial Debts

(C) Aggressive Nuclear Policy (D) Disobeying International Laws

T.B.C. : 15/18/SET—II 18



40.

41.

42.

43.

44.

45.

46.

fre § ¥ $ qoreTs Teeitg # qeld e % oMt yfowe @ wfaues § 2

(A) folert gradt (B) WX AW

(C) w foremw D) T & I T

7 fored we o ‘Fefafy § G B wea v ¥ @ oo T s g § 2
(A) gHterRed (B) Tdferd s

(C) T D) T foewm

e 8 ¥ S T st dadl % fagl # ‘w-weEa’ Y dabn ¥ 2
(&) R A (B) Fedare

(C) W (D) AR

fre 3§ WK gadet § 2

(A) g@ﬁwﬁ' (B) WR®

(€) W TR (D) e R

e & § 39 & e F1 fagiier & § 2

@A) 2We A (B) 1 3H

(C) e ™ D) TH K

frg ®a o1, ‘95 3 WAl N Taq TeHid & ?

(A) T AR (B) 1Y aTeeS

(C) et o Ffefas D) dgeret @t Efdve

Y 7', N FAfR erd TN ¥ Fefa ¥, FRE ©

(A) HARRER! HAFH (B) foxia =W

(C) s Ty Hfi (D) ST FIEN FT e

T.B.C. : 15/18/SET—II 19 P.1.O.



47.

48.

49.

50.

Who is the author of the book, Silent Spring ?

(A) Al Gore ' (B) Garett Hardin
(C) Rachel Carson (D) Thomas Malthus
Solution for the Tragedy of Commons lies with :

(A) Private Ownership

(B) Government Regulations

(C) Resource Management by the People

(D) All the above

John Austin is associated with which one of the following Notions of

Sovereignty ?
(A) Internal (B) External
(C) Legal (D) Philosophical

Match the following and choose the correct answer frdm the codes given below :

Theory/Approaches Thinkers
(i) Decision Making (1) Morton Kaplan
(i) Systems ,A (2) Richard C. Snyder
(1) Communications (3) Hedley Bull
(iv) Neo Realist (4) Karl Deutsch
Codes :

A) @) - (), Gi) - (1), (@) - 3), Gv) - (4)
B) @) - Q), Gi) - (2), @) - (3), Gv) - (4)
€ @ - @), @) - Q), @) - (2), Gv) - 3)
D) @) - (@), G) - (1), Gir) - (4), (v) - 3)

T.B.C. : 15/18/SET—II 20
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55.

56.

87.

Who was the first Foreign Minister of post-independence India ?
(A) Jawaharlal Nehru (B) Krishna Menon

(C) Sardar Baldev :Singh (D) John Mathai

Who is the originator of the realist school _of foreign policy ?
(A) Kautilya (B) Chandragupta Maurya
(C) Morgenthau (D) Sardar Patel

India hosted which one of the following NAM Summit ?

(A) Tth --1983 (B) 12th - 1998

(C) 15th - 2009 (D) 17th - 2016

Which military naval fleet was ordered to proceed from Diego Garcia towards
India in 1971 War ?

(A) Fifth _ (B) Sixth

(C) Seventh | (D) Tenth

Which Israeli flower was recently named with the Indian Prime Minister ?
(A) Carnation (B) Daffodil

(®) CMysantheﬁun - (D) Gladoli

With which country India signed a pact to upgrade Railways ?

(A) Australia (B) Denmark

(C) France (D) New Zealand

‘Hand in Hand’, a joint military exercise was held between India and .........
(A) China (B) Sri Lanka

(C) Australia (D) USA
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51.

52.

63.

o4.

55.

56.

57.

WA YR & Y90 faew o=t =9 & ?

(A) T e (B) Fom T

(©) TwR Ra iz D) S e

= d @ 31 fadw Afa & o faar/awem/ e & GwTE § 2
A) wifes (B) ==Tw HH

(C) =rars (D) HER T

a7 = A R s iy frer ol smaifsa . &t ot 2

@A) 7 - 1983 (B) 128 - 1998

(©) 154 - 2009 (D) 178t - 2016

1971 & g § fedt mif ¥ sma & o frg 3 T R @ 98 & fau emfm
fear mn 2

(A) dEl (B) Bl

(C) st D) T

T B O fHEE TSR T 1 AWH YRA o YYW WAl o W W g ¥ 2
(A) HRWH (B) Twifead

€ wEdfm | D) Tt

"y Y T 20 % WY R ¥ S i guE e ¥ 2

() srefem (B) THrEh

(C) W™ (D) Siere

D L b g ap— & wo s g
(A) = (B) it

(C) sieferm , D) FTET
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58.

59.

60.

61.

62.

Which one of the following has not been part of India’s f(;reign policy ?
(A) Look East (B) Act East

(C) Look West (D) Act West

BRICS comprises :

(A) Brazil, Russia, India, China and South Africa

(B) Belgium, Romania, India, China and South Africa

(C) Brazil, Romania, India, China and Sudan

(]5) Botswana, Romania, India, Cambodia and Somalia

The first Indian All Women UN Peace Keeping Unit was sent to which of
the following country ?

(A) Siberia . (B) Liberia
() Nigeria: (D) Algeria

The Constituent Assembly of India was set up under which one of the

following ?
(A) Cripps Mission - - (B) Cabinet Mission
(C) Wavell Plan (D) Mountbatten Plan

‘We the People’, enshrined in the Preamble of Indian Constitution, refers

to :
(A) Popular Sovereignty (B) Political Sovereignty
(C) Legal Sovereignty (D) Parliamentary Sovereignty
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58.

59.

60.

61.

62.

fer d Q4 S 9Ra #t faow Afa w1 9w @ W R ?

A) & R (B) TR 3=
(C) q& = D) TR A=
foeg o gfmfea § .

(A) FNd, §9, YRA, =9 IR o stwie |

(B) aﬁﬁm,ﬂwﬁm,w,aﬁaﬁiﬁmw

(CS FSie, i, 9Ra, 99 SR gEr

(D) icgaml, I, 9Rd, FEirear iR dmife

TN YRAE Td Hige TP T Wifd TR 3R R QW HO9St W
(A) grafEn -~ (B) e

(C) it D) i
Wﬁﬁﬁmummwﬁmﬁ@mamnwgw?
(A)mfﬁsﬁ (B) foe firm

(C) F=@ A (D) WRe¥e A
yRdr Hfawr #1 s § ot ‘T aRa % A wefad
(A) I I (B) TSHIfae WU

(©) fafee Fuyan (D) VR FYYd
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63.

64.

 65.

66.

67.

Which one of the following is not a part of the basic structure of Indian

Constitution ?

(A) Powers of the Judiciary (B) Rule of Law

(C) Welfare State (D) Freedom and Dignity of States
Article related to appointment‘ of ad hoc judges in Supreme Court is :
(A) 124 (B) 125

(C) 127 D) 129

Which qné of the following is not true with regard to Money Bill ?

(A) Money Bill cannot be introduced in the Rajya Sabha |

(B) Lok Sabha can reject the suggestions of the Rajya Sabha on Money Bill
(C) The consent of the two Houses is mandatory for Money Bill

(D) The President can withhold his consent on the Money Bill

Which one of the following is NOT an exception under Articles 25-28, Right

to Freedom of Religion ?

(A) Public Order (B) Morality

(C) Health | (D) Philanthropy

Who among the following has not been the Chief Election Commissioner of

India ?
@A) SukpomiSem " (B) TN. Seshan

(C) J.M. Lyngdoh . (D) S.L. Sankhdhar
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63.

64.

65.

66.

67.

frr § ¥ 7 IR GfEUE % gE SR w AW T ¢ 2

(A) =i &y (B) fafy =1 wrem

(C) FAUEHR T (D) T F W @ Fias
ToIaq e # aed Amns w1 ffk ¥ gefd oigwk €

(A) 124 (B) 125

C) 127 D) 129

o fair % wHd P d @ w A Y2

A) w7 fadas v g o e T& fEA T S R

(B) 7 fai® W TS WY ¥ M FI oih W ISR FEHA! &
(C) = fatmE W 9 T F ael fEE g

D) A fadms w T ST T I% FEd &

FTRR 25-28, Wi F W F SR % sl e F § B SR G T

(A) W% =EEn | (B) Hfaran

(C) == (D) THRTHR
frer ¥ P YR % I II9 R @ @ § 7
(A) TFER & (B) 3. w. I°H

() ¥ . fawe (D) TH. U@ Y@
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68.

69.

70.

Match political parties with their leaders and choose the correct answer from

the codes given below :

Parties Leaders
() AIADMK (1) E.K. Palaniswami
@) DMK (2) Stalin
(i) JDS (3) H.D. Kumaraswamy
() TRS (4) K. Chandrashekar Rao
Codes :

@A) G) - (), @) - @), ) - (3), () - (@)
B) G) - @), Gi) - 3), Gid) - (2), () - (1)
©) G) - (@), Gi) - Q), Gid) - (3), Gv) - 4)
D) G) - @), Gi) - Q), Gid) - (), Gv) - 3)

The maximum number of members nominated by the Governor in State

Legislative Council is :
(A) 13 (B) 1/4
(C) 16 . D) 112

Which of the following commissions is given constitutional status in recent

times ?

(A) National Human Rights Commission
(B) National Commission for Women
(C) National Commission for Minorities

(D) National Commission for Backward Classes
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68. frefcfaa ToHifo® el #1 ST el & MR W fiem F 7o 2 @ T

-G ¥ W@ I g

L B L
() weETdTE. (1) 3 % e
(i) ST | 2) wife
Gii) .EhTE. 3) TE. . FURREM
(iv) ?:“remqq @) ¥ S=vEr
Hoha-Telt

&) @) - ), Gi) - @), Gid) - (3), Go) - (@)

B ©- @, 6@ -G, - (2), Giv) - (1)

© - @, i) - D, 6@ - @), ) - @

D @) - @), G) - 1), ) - @), Go) - ) |
69. wﬁmvﬁwﬁmmaﬁmmmﬁm%%:

&) 13 | B) 14

©) 16 D) 112
70. = 4} 59 omm # e A & dduhe oo R o 2

(A) TN AMEfeR S (B) U@ Hfgen 3T

(C) TSN Feqaedsd (D) T&H frss i smEm
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71

72.

73.

74.

75.

76.

The State in India came to be characterized in its formative phase as :
(A) | Soft State (B) Strong State

(C) Flexible State (D) Moderate State

P.C. Mahalanobis, the founder of Mahalanobis Model, was :

(A) A Statistician (B) An Economist

(C) An Industrialist | (D) A Bureaucrat

The creator of the acronymn, LPG-Liberalization, Privatization, Globalization

is/was :
(A) P.V. Narsimha Rao - (B) Manmohan Singh
(C) Montek Singh Ahluwalia (D) None of these -

Which of the following is not true with regard to Secular State in India ?
(A) The Sta‘te,respects all religions (B) The State. protects all religions
(C) The State promotes all religions (D) The State negates all religions

The term, ‘Third Democratic Upsurge’ is associated with which one of the

following ?
(A) Backward Class Participation (B) Competitive Market Orientation‘
(C) Youth Participation (D) Civil Society Participation

Which one of the following is not a classified category of Non-Governmental

Organizations (NGOs) ?
(A) Grass roots NGOs (B) Umbrella NGOs

(C) Pan Indian NGOs (D) Funding NGOs
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11.

72.

73.

74.

75.

76.

A YRMF WO K 9RA F T AGNRd fmar @
A) T T B) we T
(C) ™ T | (D) @ TH
TEeFeE gfaE % weds, . 6. weeied 9

(A) wifermifag (B) SrofumeHt
(C) EnTafd (D) s

.vﬁaoﬁw,mﬁsﬁ—fmw@m,w@zm,ﬁwﬁm%w%/é:

A) @ . RfdeRE (B) e fag

(C) u=w T sreeEe D) T | FE T

o dofrde T & W fe A Qv R 2

(A) T 9t uF w1 GHA w0 g (B) T Wl o w1 WEW F@ 5
(C) @wﬁwﬁwﬁaﬁqm% D) T wft o & fiy ww R
i i e’ e e d ¥ fee g ¥ 2

A) g = weufm (B) muﬁmﬂ@m‘

(C) Fan WeIfiran (D) it o G

fr & ¥ B T R-SER OeA (TRiel) #t Fiiga St A % 2
(A) eIt TSR (B) ol TS

(C) wd wRdh TASsh (D) Fifeem TSt
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717.

78.

19

80.

81.

82.

83.

Which was the first state re-organized on the basis of language in India ?
(A) Andhra Pradesh (B) Karnataka
(C) Maharashtra (D) Tamil Nadu

!’

Which Lok Sabha has/had the maximum number. of women MPs ?

. (A) First (B) Fourth

(C) Seven (D) Sixteen

Which national party failed to open its account in Lok Sabha elections held
in 2014 ? '

(A) BSP . (B) NCP

(C) CPI (D) CPM

The full form of VVPAT is :

(A) Voter Verifiable Paper Audit Trail

(B) Voter Verifiable Paper Audit Trial

(C) Voter Verified Paper Audit Trial

(D) Voter Veﬁﬁcation Process and Trail

Which country is related to the origin of Public Administration ?
(A) USA ' (B) UK

(C) USSR 4- (D) Canada

The founder of Ecological Approach in Public Administration is :
(A) Elton Mayo ' (B) F.W. Riggs

(C) Chester Bernard (D) Herbert Simon

Who conceived the idea of New Public Administration ?

(A) Dwight Waldo - (B) L.D. White

(C) Herbert Simon (D) Max Weber
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8.

79,

80.

81.

82.

83.

YR § 9O YR W WIS B A YUH TE A ?

(A) 3Ty wew (B) Hleh
© we (D) dferrg
g o | § waifus Afeen wiwg /W ¥

(A) e (B) <Rt
(C) et (D) Hrerest

FE T TIRE €9 2014 % W 991 gAE H U @ Gien d IEhd
® 7

(A) (B) T

(C) wr=h (D) =R

HARTH w1 = fowR ¥ o

(A) aﬁaaﬂfmaaﬁrqtaqméa (B) R Afiftrese TN Hifee TEaE
© d ¥ AW oifez T (D) A HFERE TEE TE W
T T % 3CWd ¥ Hefd I R € 2

(A) T (B) I

(€) FTWTEIM | (D) e

s TEE & TRffi SUTH % TETE T

(A) TEA T (B) Th Ty fH
(C) =R ¥ (D) ®& WEH
@ AF TET & foER & wfoues FH 9 2

(A) I oweEl (B) T T R
(C) &R wmEm (D) e 9
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84. Match the following authors with their works and choose the correct answer
from the codes given below :

’

Authors Works

(1) Luther Gullick (1) T'he Human Problems of an
Industrial Civilization

() Henri Fayol (2) Papers on the Science of Adminis-
tration

(i) F.W. Taylor (3) Principles of Scientific Manage-

' ment
(lv) Herbert Simon (4) The Administrative Behaviour
Codes :

(A) @) - (4), ) - (3), (@) - (2), (v) - (1)
(B) @) - (), @) - (2), () - (3), Gv) - (4)
©) @ - (@), @) - ), (@) - (3), Gv) - 4)
D) @) - (2), @) - (1), i) - (4), (v} - (3)
85. Legal-Rational Authority is a core component of :
(A) Public Choice Theory (B) Theory of Emergency
(C) Theory of Bureaucracy (D) Theory of Motivation
86. Who called Public Adr.ninistration as the fourth branch of government ?-
(A) Willoughby (B) Dwight Waldo
(©) LD. White (D) Woodrow Wilson

87.  Which one of the following is NOT covered under the six dimensions of world
governance indicators ?

(A) Voice and Accountability
(B) Government Effectiveness
(C) Political Stability and Lack of Violence

(D) Independent Media
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84.

85.

86.

87.

it SrEe] H ST6 ST % SRR frer i ae A § T eR-gE 8w
W g | '

Liee o wrd

® TR TaH 1) @ g T oim W Isfea
ffereresers

@) T A @ d o T wiEw e TeHREH

(i) TH. T=Y. N @) fifarew e axfefrs #sHe

(iv) T TEH @ < wsfafwfe faefrr

g |

A G) - @), @) - 3), ) - @), () - @)
B) @) - (D), @) - @), i) - 3), @) - @
© @ - @, @) - @), @) - @), @) - @
@ 6 - @), @) - @), @ - @), @) - @)
e T FURYE T €

(A) 9% T fagE #= (B) MUk fag

©) FwmE fag@ H (D) R fagia

A% T W R TR & el wen ¥ 2

A) fochst (B) T@mEE Al

(C) TH . =M (D) =0 faewA

fr § § 3 fova ofeeR ¥ ©: TR & Wk § wimiad @ € 2
(A) WA T Sersfed (B) TN yurEeiterdl

() Torifew feoma w6 fw & w9 (D) WA Hife
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88.

89.

90.. ,

91.

92.

93.

Who among the following is called the ‘Prophet of Management’ ?
(A) Chester Bernard |, (B) Herbert Simon

(C) Peter Drucker | (D) M.P. Follett

The ‘Gang Plank’ refers to :

(A) Level Jumping (B) Discipline

(C) Initiative (D) Equity

Who is the exponent of Communication Theory in Public Administration ?

(A) Karl Deutsch (B) Herbert Simon

(C) M.P. Follett (D) Peter Drucker

The Good Governance Day in India is celebrated to mark the birthday of

which Indian Prime Minister ?

(A) Jawaharlal Nehru ~ (B) Rajiv Gandhi

(C) Atal Bihari Vajpaye?e (D) Manmohan Si;lgh

Which of the following is/are the tools of legislative control over executive ?
(A) No Confidence Motion (B) Impeachment of the President
(C) Question Hour (D) All of these

What is the rank of India in Corruption Perceptions Index, 2018 ?.

(A) 50th - (B) 65th

(C) 78th (D) 100th
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88.

89.
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93.

g A ¥ 9 ‘yaud w1 AdE’ FE S § 2

A) FR T (B) w W
(C) X g (D) . W HeR
‘1 =i’ gefd ®

(A) wad Sfem | (B) STRmA @

(C) I q (D) ¥ 9
r«hmwﬁ@nmﬁ:;ia$m%?

A) @ I (B) w WEHA

(C) . W FrR (D) R T

yRa # R gym o & ST B gunee oW o ®9 § e @ % 2
(A) VT YEE ®) T |
(C) ore foRrl areust (D) wHed fag

Fe & @ A sl ® e fem & e § 2
&) st wE (B) Tl W waifirim
(C) ¥ & (D) & |eft

FUH WA 3e, 2018 # wRa i Fowl ¥

(A) 508t (B) 65at

(C) 7sdt (D) 1008t
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94. Citizen Charter and Grievances Redressal Bill came into force in the

year :
(A) 2011 , (B) 2012
(©) 2013 (D) 2014

95. Who is the first Chairperson of Lokpal in India ?
(A) B.C. Chako (B) P.C. Ghose
(C) J.C. Bose ' (D) U.C. Dosh
96. Gram Sabha_is a: | |
(A) Administrative liody _ (B) Political body
(C) Constitutional body (D) Legal body
97.  In NITI Aayog the Prime Minister holds the position of :
(A) Chairperson (B) Ex-officio Chairman
(C) President (D) CEO
98. Government piogiam ‘Ayushman Bharat’ deals with :
(A) Child Education (B) Providing Health Insurance‘
(C) Protection of Girl Child (D) Vaccination Program

99.  Social audit is related with which one of the following ?

(A) NRHM (B) MNREGA
(€) Jen Dhan Yojua . D) NYAY
100. Which State in India impiemented the Food Security Act for the first
time ?
(A) Chhattisgarh (B) Rajasthan
(C) Jharkhand (D) Madhya Pradesh
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9.

95.

96.

91l

- 98.

99.

100.

fydte w1 we frafee Rue faw fem o & afcm § o 2

(A) 2011 (B) 2012

(C) 2013 : (D) 2014

UG § AHUA & YUH AN B € 7

(A) s @ T (B) ‘. . =W
() 3. #. 99 (D) 7. @. 3™
plaik:ii

(&) VT B) T Fom
(C) Tauf frem D) fafiw frem
Hifa s # guA W B W AR

(A) Grafd _ (B) WA wdfd
C) I=\E (D) W3

WE HEHT A A e §

(A) < faem (B) WA M F&H HEA
(C) e firg W& (D) FFHT FrEHA
A e e 3 A R T @ SaE ¥ 2

(A) TLIRTLT. (B) WM

(C) W ¥ A D) =

yE ¥ 9 T 3 wdven wEe g atufem feafad fe ?
(A) SRR (B) TSIRYMA

(C) FRES (D) " W
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